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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
117+ 10= 439-10= 808 + 100 = 940 - 100 =
374+ 10= 942-10= 422 +100 = 868 - 100 =
78+10= 745-10= 603 + 100 = 663 - 100 =
249+ 10 = 964 - 10 = 152 + 100 = 900 - 100 =
284 +10= 994 -10= 632 + 100 = 792 -100 =
827 + 10 = 208-10= 24 + 100 = 419 - 100 =
119+10= 333-10= 236 + 100 = 314-100=
340+ 10 = 74-10= 570 + 100 = 553 - 100 =
238+ 10 = 359-10= 837+ 100 = 890 - 100 =
692 + 10 = 593-10= 42 + 100 = 313-100 =
903 + 10 = 64-10= 344 +100 = 188-100=
588 + 10 = 631-10= 523 +100 = 337-100 =
765+ 10 = 616 - 10= 671+ 100 = 662 - 100 =
531+ 10= 644 - 10 = 163 + 100 = 426 - 100 =
932+ 10= 139-10= 680 + 100 = 440 - 100 =
851+ 10 = 945-10= 268 + 100 = 705-100 =
364 + 10 = 924 -10= 222 +100 = 543 - 100 =
150+ 10= 457 - 10 = 345+ 100 = 706 - 100 =
394+ 10= 235-10= 186 + 100 = 811 - 100 =
862 + 10 = 419-10= 688 + 100 = 339-100 =
421 + 10 = 567 -10= 358 + 100 = 801 - 100 =
354+ 10= 185-10= 704 + 100 = 413 - 100 =
299+ 10= 256-10= 544 + 100 = 547 -100 =
710+ 10 = 972-10= 43+ 100 = 530- 100 =
7+10= 389-10= 273+ 100 = 882 - 100 =
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Adding and Subtracting 10s and 100s

Name:

Answer Key

Fill in the blanksfor each problem.

117+10=_ 127 439-10=_ 429 808 + 100=_ 908 940-100=_ 840
374+10=_ 384 942-10=_ 932 422 +100=_ 522 868-100=_ 768
/8+10=_ 88 745-10=_ 735 603 +100=__ 703 663 -100=__ 563
249+10=_ 259 964-10=_ 954 152+100=_ 252 900-100=_ 800
284+10= 294 994-10=_ 984 632+ 100=_ 732 792-100=_ 692
827+10=_ 837 208-10=_ 198 24+100=_ 124 419-100=_ 319
119+10=_ 129 333-10=_ 323 236+100=__ 336 314-100=_ 214
340+10=_ 350 74-10=__ 64 570+100=_ 670 553-100=_ 453
238+10=_ 248 359-10=_ 349 837+100=_ 937 890-100=_ 790
692+10=_ 702 593-10=_ 583 42 +100=_ 142 313-100=_ 213
903+10= 913 64-10=_ 54 344 +100=_ 444 188-100=__ 88
588+ 10=_ 598 631-10=_ 621 523+100=_ 623 337-100=_ 237
765+10=_ 775 616-10=_ 606 671+100=_ 771 662 - 100=__ 562
531+10= 541 644-10= 634 163+ 100=_ 263 426 -100= 326
932+10=_ 942 139-10=_ 129 680+ 100=_ 780 440-100=_ 340
851+10= 861 945-10=_ 935 268 +100=_ 368 705-100=_ 605
364+10=_374 924-10=_ 914 222+100=_ 322 543-100=_ 443
150+10=_ 160 457-10=_ 447 345+100=_ 445 706-100=__ 606
394+10=_ 404 235-10=_ 225 186+ 100=_ 286 811-100= 711
862+10=_ 872 419-10=_ 409 688 + 100=_ 788 339-100=_ 239
421+10= 431 567-10=_ 557 358 +100=_ 458 801-100=_ 701
354+10=_ 364 185-10=_ 175 704 +100=__ 804 413-100=_ 313
299+10=_ 309 256-10=_ 246 544 +100=_ 644 547-100=_ 447
710+ 10=_ 720 972-10=_ 962 43+100=_ 143 530-100=_ 430
/7+10=_ 17 389-10=_ 379 273+100=_ 373 882-100=_ 782
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